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O 6He| o] F=5 BOrA Zf Mol A| =/ DE 1t HOHt x[O[7t Li=X|
2 3=o{ 11 ot
O Int scorel, score2, scored, scored, scoreb, scoreb;
2 int high_score = score1;
2 if(score2 > high_score) high_score = score2;
O
2 if(score6 > high_score) high_score = score6;

O O|EH slH Z2=4
O for(i=2; i<=6; i++)
{ if(score ; > high_score) high_score = score ;; }
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O 1int[], String[] int[] ¢ —= | al
O Javal| Hi< ZHH|0|CF. al : int[6]

AMBIC O 1 2 3 4 5

D 1int[] r = new 1nt[6];
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. a 1 t ==
int[] r = new int[6]; “11 []. al
int x = 6; 2 1nt[6]
ol olo) O 1 2 3 4 5
PIEIA (index)= 2
r[3] = r[x-5] + 2;
int[] s ==| al
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. boolean: false, ZEMIEF: null

O int[] r = {1, 2, 4, 8, 16, 32};
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int[] ¢

new int[1l2];

r[0] = 1; r[l] = 1; HiEO| 37|= length 2E=0f XMZEHE
for (int i=2; i<r.length; i=i+l) {
r(i] = r[i-1] + r[i-2];
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4 HiEO| SAE|O] HMEE[= 20| OtL| 2t
int[] reverse(int[] r) { =AJ} Metz|= ZHo|ct,

int size = r.length;

int[] answer = new int[size];

for(i=0; i<size; i++) {

answer[size-1-i] = r[i];
}
return answer; H{ZEO0|SAIZ[0] Bietz[= Z10| OfL[2f
} A7} dretz[= Z40|C},

I —




O HWetHd = CZd 20| BR=Ct
O code[0] = seed
O code]l] = (codeli-1]+4) % 27

AEse FEE SR,

)
\j_)/ hanyang university]|

2/ hanyang university
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= %% hanyang university
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HAM|: class TranslateTable

N

2 Al25l0d oS35l HiolE 255
TranslateTable(int seed) seed= |-°°|- :I ':'ggl' “ |E= _,gg|-

Hol= =5
2 M
-1 O
int[] encode fSst HIO|=
int[] decode giif E1|O|§
H| A=

encode(char c¢): char
decode(char c¢): char

encode(String s): String
decode(String s): String
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class TranslateTable {

private int[] encode;
private int[] decode;

public TranslateTable(int seed) {

encode = new 1int[27];

decode = new 1int[27];

encode[@] = seed;

decode[seed] = 0;

for(int 1=1; 1<27; 1++) {
int new_code = (encode[1-1]+4) % 27;
encode[1] = new_code;
decode[new_code] = 1;




private int c2i(char c) {
1f(c==" ") return 0;
1f('a'<=c && c<="Z2") return c-'a'+1;
throw new RuntimeException("cZ2i: invalid character

}

+ C);

private char 12c(int 1) {
1f(1==0) return ' ';
1f(0<1 && 1<27) return (char)('a'+1-1);
throw new RuntimeException("i2c: invalid code

}

+ 1);
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public char encode(char c) {
return 12c(encode[c21(c)]);

}

public String encode(String s) {
String answer = "";
for(int 1=0; 1i<s.length(); 1++)
answer = answer + encode(s.charAt(i));

return answer;

}

// SEse ARG 2de = QUCt.

h
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import javax.swing.*;

class TranslateString {
public static void main(String[] args) {
TranslateTable m = new TranslateTable(1l);

String original = JOptionPane.showInputDialog
("g=oted EEE YUEHSHR.");

String encoded = m.encode(original);

String decoded = m.decode(encoded);
JOptionPane.showMessageDialog(null,

"= " + original + "\n2Sst: " + encoded +
"\nE5st: " + decoded);
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O 6Z0A CrHEJE AZt 22| ZE0ES & AIZ7HOFH
100 AEE S|k 4= U= StAY,

O ZAXNEI I8 715
) BankAccount[] bank = new BankAccount[1l00];

o 1007H2| Azf7F 2H=0{Zl Z30] OFL|EL, 1007HS| AIEIE A

35t 4 QUi HiH0| AAIEl 2

D bank[75] = new BankAccount(200);
O O[H[2.00$7t =01 U= Az HdE=l Z0]|Ct
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l BankAccount[] bank = new BankAccount[100]; '

4 ~
BankAccount[100]
bank 0 1 2 99
B/) null | null | null | @
\ 4
| bank[1] = new BankAccount(200); '
@ -~ & N
BankAccount[100] BankAccount
Rank 0 1 2 99 balance
ol
. =7 8 Y
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O bank[1].deposit(600);
O bank[1] Z4H[0f| deposit HIA|X|E ELHCT.

O bank[1] = null;
O bank[1] AIZIE giHLCH.

O | HiHO| 24 A BE AT} T QIOJOf Bt 242 O
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O H|O[E{H||O|A (database)
O MBS HO|EHOtEA
O Of, EAEe] ATEN HE, sto| sMYEH SIAtR| OiE

HdH S

O B|2E (record)
O Cl|O|E{H|O| A M X{ESH= | 5 Eie

O F|(key)E Soll H|IZESS FEIL
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Che O|O[EH|OA BHS7Y

insert: 2| 2 =2 H|O|E{H|O| A0 =7t
find: 7|1E Sofl 2|Z=E A

delete: 7| E Soll 2| ZEE ZAUSI0] AMY|

7= Z4R|Ct, :
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i 2RIt 7| AAE 2t 2lofof o
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Database
insert(Record r): boolean 1

Record

find(Key k): Record
delete(Key k): boolean

getKey(): Key

Kev

SejA CHo|o] Oz 7tM Z=0] CHst XtM|St M : https://en.wikipedia.org/wiki/Class_diagram

equals(Key y): boolean
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class Database | AEE X&st= 71H|0]|L
A=
=2 A0l =715 MIslo
insert(Recrd r): boolean |['= Cl|O[E{H|O| AGH| F=T}5tC} 4 SSHH true, OF
L|™ fglseE HISISIC]
= L 2z} AlGHS
find(Key k): Record k 7_|_E tXl= A ZEE S=C0f. 2foHH nullS
HISISICE
= L C = AHISHCE A5
delete(Key k): boolean k7|1S 7HR|= 22 _E_ ~HISHC). 4S5t true,
A5t false= Hi=toHCt,
class Record Cl|O|E{H||O| A L] X} =& ErL
HAE
keyOf (): Key tZEQ| 7|F dhelslr}
class Key | T EO| AEHX} 7|
L EA=
equals(Key m): boolean XWJE%FW:%L H|wStCt, 222 ™ true, E2|H false
= HiSlsiC

20

Stk

CHstw ERICA ZAFE{=stnt



public class Database {

private Record[] base;
private int NOT_FOUND = -1;

public Database (int initial_size) {
1f (initial_size <= 0)
initial_size = 1;
base = new Record[initial_size];
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private int findLocation(Key k)

{

for (int 1=0; 1i<base.length; 1++)

1f(base[1]!=null && base[1].getKey().equals(k))
return 1i;

return NOT_FOUND;
¥
private int findEmpty()
{

for (int 1=0; i<base.length; 1++)
1f(base[1]==null)
return 1i;
return NOT_FOUND;
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find & delete

public Record find(Key k) {
int index = findLocation(k);
1f(index !'= NOT_FOUND)
return base[index];
else
return null;

ks
public boolean delete(Key k) {

int index = findLocation(k);
1f(index !'= NOT_FOUND) {

base[index] = null;
return true;

}

else
return false;
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Insert

public boolean insert(Record r) {

1f(findLocation(r.getKey()) !'= NOT_FOUND)
return false;

int index = findEmpty(Q);

1f(index !'= NOT_FOUND)
base[index] = r;

else {
Record[] temp = new Record[base.length * 2];
for(int 1=0; i<base.length; 1++)

temp[1] = base[1];

temp[base.length] = r;
base = temp;

}

return true;
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O FtE S0|M FIES ot 4 == 23S Adof| 24t

O 7=
O PK(suit): CHO|OR=2E (diamonds), SHE (hearts), 22H
(Clubs), 21|0|= (spades)
O =XEA(T), 2~10, H(11), 032H(12), ZH(13)

O 7IE & (deck)
O FEQ| Y



Deck

newCard(): Card
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class CardDeck

A
=M

private Card[] deck

H|~=

newCard(): Card

Ct. S0 H

MM

A M= nullS grat

moreCards(): boolean

!

Ct.

class Card

AN
=M

private suit: String

private int count;

| E=

getSuit(): String

Hd
02
i

getCount(): int
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public class Card {
public static String SPADES = "spades';
public static String HEARTS = "hearts";
public static String DIAMONDS = "diamonds";
public static String CLUBS = "clubs";

public static int ACE = 1;

public static int JACK = 11;

public static int QUEEN = 12;

public static int KING = 13;

public static int SIZE_OF_ONE_SUIT = 13;

private String suit;
private int count;

public Card(String s, int c)

{ suit = s; count = c; }
public String getSuit() { return suit; }
public int getCount() { return count; }
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public class CardDeck {
private int card_count; // E2 7= =+
private Card[] deck = new Card[4*Card.SIZE_OF_ONE_SUIT];
// 24l deck[@]...deck[card_count-1]0l= ZIE7} QICt.

private void createSuit(String which_suit) {
for(int 1=1; i<=Card.SIZE_OF_ONE_SUIT; 1++) {
deck[card_count] = new Card(which_suit, 1);
card_count++;

h
h

public CardDeck() {
createSuit(Card.SPADES); createSuit(Card.HEARTS);
createSuit(Card.CLUBS); createSuit(Card.DIAMONDS);
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public Card newCard() {

Card next_card = null;

1f(card_count '= 0 ) {
int index = (int)(Math.random() * card_count);
next_card = deck[index];

// FIEE &2 fIXRH o= YH FLC}.
for(int i=1index+1; i<card_count; 1++)
deck[1-1] = deck[1];

card_count--;

}

return next_card;

}

public boolean moreCards() { return card_count > 0; }
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MM int[J[] a = new int[3][4];

O
O E(column)2| ==: a.length
O

(row)2] 4 a[0] . Length 1
2
0,011,0(2,0 3
0,1(1,1]2,1
02/12]22 JavaOilM= HiE S| BIEZ 3 ZlCt.
0,311,312,3
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int[ ][ ] election = new int[3][4];

for(int j=0; j<4; j++) {
int votes = 0;
for(int 1=0; 1<3; 1++)
votes = votes + election[i][j];

System.out.println
7|&1H ("71E" + (J+1) + "HE "+
votes + "I EMQMELICE.");
7|&2H }
for(int 1=0; 1<3; 1++) {
=nH int votes = 0;
7|=3H for(int j=0; j<4; j++)
votes = votes + election[i1][j];
7| S4H System.out.println
=4 (Gi+D) + " XY " + votes +
"H OHARISLICH. ");
ks
\_ y
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O|xXF# HIZEO| HIE2| HIZO0|7| =0, 2 J4 Hige| 3
= oF A O
7|& CiEA 2 == RULCH
int max_words = 20; O|XF& HiEe| A 3 7|2t X|™35tH A H{EO| MM E[X| Z=CF -
char[][] word = new char[max_words][];
int count = 0;
boolean processing = true;
while (processing && count < max_words) {
String s = JOptionPane.showInputDialog("Please type a word: ");
1f (s == null) processing = false;
else {
word[count] = new char[s.length()];
for (int 1=0; 1i<s.length(Q); 1++)
word[count][1] = s.charAt(i);
count++;
¥
ks
4
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word QO 1 2 19
[char'[] [] word = new char[max_words][]; ) -—'-) —‘
word QO 1 2 19
[word[count] = new char[s.length()]; ) . i
s="bread" blrle d
word QO 1 2 19
[word[count] = new char[s.length()]; ) -—'-j/
N All / \/E
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blr|e S
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SlidePuzzleBoard |

private PuzzlePiece[][] board
move(int w): boolean

191 14| 13| 12 1
1M|110]|1 9 | 8
*

=3 Slide Puzzle

.: PuzzlePieces
3 2 1

private int face_value
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public class PuzzlePiece {

private int face_value;
public PuzzlePiece(int value) { face_value = value; }
public int valueOf() { return face_value; }
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public class SlidePuzzleBoard {
private PuzzlePiece[][] board;
int empty_row, empty_col, size;
public SlidePuzzleBoard(int s) {
size = s; empty_row = @; empty_col = 0;
board = new PuzzlePiece[s][s];
for (int 1 = 0; 1 < size; 1++ )
for (int J = 0; J < size ; J++)
board[1][]J] = new PuzzlePiece(i * size + 7J);
board[empty_row][empty_col] = null;

}

public boolean move(int w) {
int row = @; int col = 0;
for (int 1 =0 ; 1 < size; i++)
for (int ] =0 ; J < size; J++)
1f (board[1][j] '= null && board[1][j].valueOf() == w)
{ row=1; col = J; }
1f (Math.abs(empty_row - row) == 1 || Math.abs(empty_col - col) == 1) {
board[empty_row] [empty_col] = board[row][col];
board[row][col] = null; empty_row = row; empty_col = col;
return true;

}

return false; 13}




